Fill i cach blank so that the resulting statement is true.

L {a,} = a.ascascay oo oa, . represents an
nfinite
of positive
are called the

2. The nth term of a sequence. represented by a,,. is called

the _ term.

Wiue the second term of each sequence.

3. a,=5n-—-06

q (_lyl

. (), = F *’l P
Soa,=2a,, —4.a =3
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In Exercises 1-12,write the first four terms of each sequence
whose general term is given.

l. a, = 3n + 2

2 2. a,=4n — 1
n 1y
3.a, =3 4. a, = 3
; = | )FI () _ - 1_ a
S oa, = (=3 . a, = 3
T @, = (1P + 3) 8 a,=(—1)""(n+4)
2n 3n
9. a, = 10. a, = ——
W +a AR
(;,l)nw (71),,41
11- a, = ﬁ 12. a” — ﬁ

The sequences in Exercises 13-18 are defined using recursion
formuldas. Write the first four terms of each sequence.

13. ¢, = 7anda, = a, ; + Storn =2

14. ¢y = 12 andga, = a, | + 4forn =2

15. ¢y = 3and a, = 4q, forn =2

16. ¢, = 2 and @, = Sa, ,forn =2
17. @y = 4and a, = 24, ; + 3forn =

[SS TN ee)

18. ¢y = Sanda, = 3a, ; — lforn =

In Exercises 19-22, the general term of a sequence is given and
involves a factorial. Write the first four terms of each sequence.

: n+ 1)
19. a, =", 20. a, = i )
! n
21 a, = 2(n + 1)! 22, a4, = —2(n — 1)!
In Exercises 23-28, evaluate each fuctorial expression.
17! 18!
23, 24.
15! 16!
16! 20
25 —— 20, ———
2141 " 218!
n + 2)! 2n + 1))
5, BT 2 B+
n! (2n)!

_ cafunction whose domain is the set
. The function values ay, a». ay, . . .

6. 5'. called 5

.is the product of g POsitiy
- : ¢
integers from

down through

- By dCfinn

0l= __ . On
(n + 3)!

e e
n

8. E:IH,- = 1 gz 4w o
{his summation notation, 7 1s called the of

summation, 71 1s the

of summation ang
1 is the

of summation.

In Exercises 29-42, find each indicated sum.

[§]
29. > 5i 0. X7

i=1 i=1
4 5
31. Y 2 2 37
=1 =1
s 4
33. D k(k + 4) 34 X (k= 3)k+2)

i=3 i=3

& (1Y L=
3 > — 0. Y ——

2‘” i “i+ 1

2 5 (i + 2)!
M N 5 0

2 2 255

"y AT epc A 5 2 1.
In Exercises 43-54, express each sum using surmmation nomio:

Use I as the lower limit of summation and 1 for the index of
summation.

B P+ 2+ FE 415
M 1P+ 22+
45. 2+ 22 + 2V 4 gl
46, 5+ 5+ 5% + L 512
471 + 2 4+ 3+ -+ 30

48. 1 + 2+ 3+ -+ 40
2
49.l+“+3+- 44
2 3 4 14+ 1



